Air Slide Table

Series MXJ

Note 1) Right angle degree of the front mounting
surface to the body mounting surface

Note 2) Parallelism of the top mounting surface to the
body mounting surface

. Mounting from the . .
Ms?e?:lrfl\)nr‘lbsoltzzl?/ et :g"e ﬁW Auto switch mountable in
. - Tapped for mounting tWO rows
{:’Er:i:/zﬁttsf%’awsitt%ptr:r;o:g:ér\]/?s) when mountin: aworkpiece |+ Auto switches can be mounted in two rows
.
g 9 E for all models in the range of MXJ4 to MXJ8.
Model MXJ4 | MXJ6 | MXJ8 « Two auto switches can be mounted with a 5
[ troke.
Threads for through-hole E mm orlonger stroke
mounting on the top M2.5 M3 M3 ‘ ® -
[fead oz M rass on the e Lo S — D-O0
mounting on the bottom M3 M4 M4 g
uto switch




* Plugs for the symmetric type @Piping port

@Axial piping plate

©Axial piping port

ORetraction end stroke adjuster
@Extension end stroke adjuster
@Switch rail

@Vacuum port (clean specifications)

Height
eT =

®Axial Piping

Width

Wiring and piping can be aligned in
the same direction.

Auto switch

Symmetric Style

Piping ports are provided both on the right and left sides.
Switch rails and axial piping plates are interchangeable
between the right and left side.

T

Symmetric type Standard type

(mm)
Model  Total length ~ Width Height o @
MXJ4 43 20 10 (?
MXJ6 43 22 11 i ‘
MXJ8 | 45 26 13 & ¢

Note) Values of stroke 10 mm.

$-Oo

Rail switch
Axial piping plate

Variations
Model Standard stroke (mm) Adjuster option Piping option . R
| Bore size ) . I Clean Specification
Standard | Symmetric (mm) 5 |10 | 15 | 20 [Fxtension Retraction | Both | Axial piping
type type end end | ends type Clean specification products are
available with no dimensional
MXJ4 | MXJ4L | 4.5 o0 | — | — [ [d [ ° changes. The same options are
MXJ6 | MXJ6L 6 oo | o | — ° ° ° ° available as for standard products.
MXJ8 | MXJSL 8 oo |0 o ° ° ° °
60
5001
50
> MXQ / MXS 40!
=100r 5
=3
‘g 50} E 30t
g 5
B £ 20t
3
=
=
o/ 62,
5L N " 0 " "
05 20 30 150 1 10 100 1000
Stroke (mm) Allowable moment (N-m)
* Operating pressure: 0.5 MPa when operating direction is OUT.
— IN
OUT «—

206

O
2



Series MIXJ
Model Selection

Procedure

Operating Conditions

Formula/Data

Selection Example

Enumerate the operating
conditions considering the
mounting position and
workpiece configuration.

* Model to be used

* Type of cushion

* Mounting orientation

* Average operating speed Va (mm/s)
* Load weight W (kg)

* Overhang (mm)

Cylinder: MXJ6-10
Cushion: Rubber bumper
Mounting: Horizontal wall
mounting

Average operating speed
:Va =100 mm/s

Load weight: W = 0.1 kg
L2 =40 mm

L3 =50 mm

@ Load Weight

Find the collision speed V (mm/s).

Confirm that the load weight W (kg)

does not exceed the value in the
graph.

V = 1.4 .Va :* Correction factor (Reference value)

3
Graph (1)

V=1.4x100 =140

Confirm that V = 140 and W = 0.1 do not
exceed the values in Graph (1).

2
Applicable because ; 010
it does not exceed

the value in Graph (1). 140
V mm/s
Load Factor
Load Factor of Static Moment
Find the static moment M (N-m). M =W x 9.8 (Ln + An)/1000 Examine Mr.

Find the allowable static
moment Ma (N-m).

Find the load factor of the static
moment.

Corrected value of moment center position

distance An: RELIEE()]

Pitch, Yaw moment: [eeTs]gf¢)

Roll moment: [E]eT]a))]

Ol = M/Ma

Load Factor of Dynamic Moment

Mr = 0.1 x 9.8(40 + 3)/1000 = 0.042
A2=3
Obtain Mar = 0.6 from Va = 100 in Graph (3).

0.6

Mar N-m

Ol = 0.042/0.6 = 0.07

100
Va mm/s

Find the dynamic moment Me
(N-m).

Find the allowable dynamic
moment Mea (N-m) from graph.

Find the load factor of the
dynamic moment.

Me = 1/3-We x 9.8 (Ln + An)/1000
mass equivalent to impact We = 8-W-V
&: Bumper coefficient
Rubber stopper: 4/100
Metal stopper: 16/100
Corrected value of moment center position

distance An: LELEXE)]

Pitch, Yaw moment: [e]eTeli¥¢3)]

Examine Mep.

Mep = 1/3 x 0.56 x 9.8 x (40+3)/1000 = 0.078
We =4/100 x 0.1 x 140 = 0.56

A3=3

Obtain Meap = 1.1 from V = 140 in Graph (2).

Oz =0.078/1.1=0.07 11 W
140

Examine Mey. V mm/s
Mey = 1/3 x 0.56 x 9.8 x (50+11)/1000 = 0.116

Meap N

Oz = Me/Mea We = 0.56
A3 =11
Obtain Meay = 1.1 from V = 140 in Graph (2).
Ol2' = 0.116/1.1=0.1
= il
=
>
8
=
140
Sum of Load Factors V mms
Possible to use if the sum of Olr + Oz + Ol2' =
the load factors does not Ol +02<1 Applicable because

exceed 1.

0.07 +0.07 +0.1=0.24 < 1

s EgE s EE)

=
=
Iz



Series MXJ

Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm)

Allowable Static Load: F(N)

Pitch moment Yaw moment Roll moment
-
L At WA L2 A2
w L
” L1 Al M
2 '-._ 0
5 = w
o
g II L3 A3
L3 A3 ]
Mr (==
wy (B ‘E:E
L w
w W
3 e
g we ~ Ty
15 e
£ \
g = Ho-E
a )
<

F F
Load Weight: W
MXJ4 ‘ ‘ ‘

\ Rubber bumg‘ er

T
Metal stopper

A%
N

o
3

o
=Y
8

Load weight W kg
s o
R 8

o
=Y
S

o
1=
S

0 100 200 300 400 500 600 700
Collision speed V mm/s (Average operating speed x 1.4)

Note) Static moment: Moment generated by gravity MXJ6
Dynamic moment: Moment generated by impact when colliding with stopper ‘
(111K Pd] Allowable Moment cl1N€)] Allowable Moment o 02 REEST
Pitch Moment: Map, Meap Roll Moment: Mar 2 \fer dumper
Yaw Moment: May, Meay Z 8 Wetal stopper
2 MXxJ8 g on
1 H
£15 MXJ8 £ 3
£3 MXJ4,MXJ6 F g
P
z2 : = MXJ4,MXJ6
s 1 z 06 ! 000 ]
=509 S 05 0 100 200 300 400 500 600 700
€ g08 % Collision speed V mm/s (Average operating speed x 1.4)
2207 £ 04
2006 o
g £ 0s MXJ8
£ 5os 5 T
23 04 % 035 \ Rubber bumper ]
k- g 02 20 1 |
£ 203 3 % 025 \ ‘ Metal stopper ——
<< 5 020
= 015
02 0.1 g o
50 100 200 300 500 {700 50 100 200 300 400 g0 ~
Average operating speed Va mm/s X 500 — 005
Collision speed V mm/s 400 600 Average operating speed Va mm/s o
Note) Use the average operating speed when calculating static moment. _ "0 100 200 300 400 500 600 700
Use the colision speed when calculating dynamic moment (refer to page 207.) Table (2) '\‘;‘I,a)l( ﬁt"c\,l‘\llvtibl)? Iioad Colision speed V mm/s (Average operating speed x 1.4)
RERTYR] Correction Value of Moment Center eight: Wmax (kg)
Position Distance: An (mm) Max. allowable load weight
: Model .
Corrected value of moment center Rubber bumper | Metal stopper LCLIEYE] Allowable Static Load: F (N)
Model position distance (Refer to Fig. 2.) MXJ4 0.1 0.08 Model N e e
Al A2 A3 MXJ6 0.2 0.14 MXJ4 300
MxJ4 10 3 10 MXJ8 0.35 0.25 MXJ6 300
MXJ6 10 3 11 The above value represents the maximum value for each
MXJ8 2 P’ . allowable load weight. For the maxi llowable | MXJ8 500
weight for each piston speed, please refer to Graph (1). The above value represents the applicable load at the

LELIEYK)] Maximum Allowable Moment: Mmax (N-m)

Model Pitch/Yaw moment: Mpmax/Mymax Roll moment: Mrmax
MXJ4 11 0.6
MXJ6 11 0.6
MXJ8 15 1.0

piston speed, please refer to Graph (2) and (3).

Symbol

The above value represents the maximum value of allowable moment. For the maximum allowable moment for each

position where the moment does not work at the time
of stop. Factors such as impact, etc. are not in
consideration with the value.

Symbol Definition Unit Symbol Definition Unit
An(n=1tw3) Corrected value of moment center position distance | mm F Allowable static load N
Ln(n=1t03) Overhang mm v Collision speed (Average operating speed x 1.4)| mm/s
M (Mp, My, Mr) Static moment (pitch, yaw, roll) N-m Va Average operating speed mm/s
Ma (Map, May, Mar) Allowable static moment (pitch, yaw, roll) N-m w Load weight kg
Me (Mep, Mey) Dynamic moment (pitch, yaw) N-m Wa Mass equivalent to impact kg
Mea (Meap, Meay) Allowable dynamic moment (pitch, yaw) N-m Wmax | Max. allowable load weight kg
Mmax (Mpmax, Mymax, Mrmax) | Max. allowable moment (pitch, yaw, roll) N-m o Load factor —

208




Air Slide Table

Series MIXJ

04, 06, 08

How to Order

MXJ

10l I ]-Im9

1 lMode to Order
Refer ro page 210 for

Symmetric type X .
[Nil | Standard | Functional option
andard - - . !
Imm Auto switch details.
it | Without auto switeh | &y, mher of auto switches
. ‘— (Built-in magnet)
Bore size (Standard stroke (mm)) ¢ Adjuster option T Nil | 2pcs
- - - - * For the aplicable auto switch models, -
Symbol| Bore size Stroke Nil |Without adjuster refer to the table below. S 1pc.
4 4.5 5,10 CS |Metal stopper on extension end. . . n “n” pcs.
6 6 5,10, 15 CT |Metal stopper on retraction end Sv!"tCh rail - - -
8 8 5,10, 15, 20 C | Metal stopper on both ends ‘ Nil ‘ With magnet and switch rall ‘
‘ N ‘ Without magnet and switch rail ‘
Note) Use an optional stepped positioning pin (see page 211) because the positioning pin hole of this product goes through.
Applicable Auto Switches/Refer to pages 1893 through to 2007 for further information on auto switches.
q . 5 _ i Load voltage Auto switch model Lead wire length (m) B
Type fSpe;:_lal Electrical BEE (gﬁ?nl?x) 9 Electrical entry direction 05 1 3 5 Pre-wx;ad Ap;l)llc:ble
Unsien)| ey | P DC AC Perpendicular In-line (Nih) | (M) | (L) | (Z) |connector o0&
3-wire(NPN) 5V MONV M9N ° e e 0| O Ic
3-wire(PNP) 12V M9PV M9P (] ® | ® O O | circuit
§ 2-wire 12V M9BV M9B [ ® | ® O [¢] —
R 3-wire(NPN) 5V F8N e [—|e|O Ic
o 3-wire(PNP) 12V F8P - ° — | e O — | circuit
3 2-wire 12V F8B e |[—|e O — | Relay,
© —
 [Dagnostc| Grommet | Yes i ey | 24V sy MONWV MINW e (e|e 0[O0 | ic|erc
2 '”(g'gg‘l'gr” 3-wire(PNP) 12V MIPWV M9PW ® (e[ @ | O [ O [circui
B |indication) 2-wire 12V M9BWV M9BW [ ® | ® O [©] —
S [ Water 3-wire(NPN) 5V MONAV* MONA* ] ole]o] o Ic
resistant : : = S
(2-color 3-wire(PNP) 12v MYPAV*! M9PA*1 [¢) O| @ | O] O |circuit
indication) 2-wire 12V M9BAV*1 M9BA*! [¢] O| e ]| O €] —
5 Yes 3-wire (Equiv. toNPN) | — 5V — A96V A96 [ ] — | e | — — |ICcircuit| —
g H #2 —_ —
&3 — Grommet 2.wire 24V 12V | 100V A93V A93 ] [ K] —_ Relay,
= — 5V, 12 V100V or less A90V A90 ° — | @ | — | — liccirauit] PLC

*1
#2 1 m type lead wire is only applicable to D-A93.
« Lead wire length symbols: 0.5 m--........ Nil (Example) MONW
1 M (Example) MONWM
3 L (Example) MONWL
5Meeeees Z (Example) MONWZ
= Refer to page 221 for applicable auto switches in addition to those listed above.
* For details on auto switches with a pre-wired connector, refer to page 1960 and 1961.
* Auto switches are shipped together (not assembled).

Clean Series

11— MXJ|

& Clean Series
11: Vacuum type  External dimensions are identical to the standard model.

Model

Standard model no.

Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

+ Solid state auto switches marked with “O” are produced upon receipt of order.

A\ Caution

When an auto switch is not mounted
properly, it can cause a malfunction. Refer
to page 221 “Auto Switch Mounting”.

Without adjuster | Grade 3 (Class 100 or equivalent)
11-MXJ6(L) 1
Metal stopper | Grade 4 (Class 1000 or equivalent)

Without adjuster | Grade 3 (Class 100 or equivalent)

11-MXJ8(L)

. . Intake flow ‘ i é} -
Model Adjuster option Grade L/min (ANR)*
Without adjuster | Grade 3 (Class 100 or equivalent)
11-MXJ4(L) - 2
Metal stopper | Grade 4 (Class 1000 or equivalent) & i

Vacuum port

Metal stopper | Grade 4 (Class 1000 or equivalent)
* Reference value

Intensive vacuum suction prevents the particles from

discharging inside a clean room.

q
NS
>
]

=
>
(2]

Mxa
MXF
XW

H

SIS =
RIS
w||=<|=

D-OJ
o

209 ®



Series MX.

Specifications
——
Model MXJ4 MXJ6 MXJ8
Bore size (mm) 4.5 6 8
Piping port size M3 x 0.5
Fluid Air
Action Double acting

Operating pressure

0.15t0 0.7 MPa

Proof pressure

1.05 MPa

Ambient and fluid temperature

—10 to 60°C

Operating speed range
(Average operating speed) Note)

50 to 500 mm/s
(Metal stopper: 50 to 200 mm/s)

Rubber bumper

Cushion (Metal stopper: Without cushion)
10 Lubrication Non-lube
a . P " -
Mo;der Made to Order: Individual Specifications Stroke adjuster Standard equipment
(Refer to page 222 for details.) Stroke adj range (metal stopp Both ends each 0 to 5 mm
Symbol Specifications Reed auto switch (2-wire, 3-wire)
-X39 |Fluororubber seals Auto switch Solid state auto switch (2-wire, 3-wire)
-X42 | Anti-corrosive guide unit 2-color indication solid state auto switch (2-wire, 3-wire)
-X45 |EPDM seals 1
Stroke length tolerance o mm

Note) Average operating speed: Speed that the stroke is divided by a period of time from starting the

operation to reaching the end.

Standard Stroke Option
—————————
Model Standard stroke (mm) Extension end (CS) )
. . " Stroke adjustment range
MXJ4 5,10 Adjuster option Metal stopper Retraction end (CT) 0to5mm
MXJ6 5,10, 15 Both ends (C)
X8 5,10, 15,20 Stroke adjuster is

Functional option

Axial piping type (P)

mountable on the axial

piping.
out IN_
Theoretical Output ~[=3
N)
Model Bore size Rod size Operating Piston area Operating pressure (MPa)
oo (G (mm) direction (mm2) 0.2 0.3 0.4 05 0.6 07
ouT 1 1 11
MXJ4 45 2 6 5 6 8 0
IN 13 3 4 5 6 8 9
ouT 2 11 14 17 20
MXJ6 6 3 8 6 8
IN 21 6 8 11 13 15
ouT 1 1 2 25 30 35
MXJ8 8 4 50 0 5 0
IN 38 11 15 19 23 26

Moisture e
Control Tube
Series IDK -

When operating an actuator with a small diameter
and a short stroke at a high frequency, the dew
condensation (water droplet) may occur inside the
piping depending on the conditions.

Simply connecting the moisture control tube to the
actuator will prevent dew condensation from oc-
curring. For details, refer to Series IDK in the

WEB catalog.

® 210

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm2)


http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351

Air siide Table Series MXJ

Weight
—
Basic Style (Without switch rail) MXJOO-COON (9)
Model Standard stroke (mm) Additional weight of adjuster option
odel
5 10 15 20 Extension end Retraction end
MXJ4 40 40 — — 2 6 MXH
MXJ6 50 50 55 — 2 8 -z
MXJ8 70 70 90 90 2 12 MXS
Axial Piping Type (Without switch rail) MXJOO-CJCOPN [(*) MXQ
Model Standard stroke (mm) Additional weight of adjuster option
odel
5 10 15 20 Extension end Retraction end MXF
MXJ4 50 50 — — 2 6
MXJ6 60 60 65 — 2 8 MXW
MXJ8 85 85 110 110 2 12 m
Additional Weight of Switch Rail ©
Standard stroke (mm) MXP
Model
5 10 15 20
MXJ4 5 5 — — MXY
MXJ6 5 5 6 — MTS
MXJ8 5 5 7 7
Table Accuracy
B side par to A side 0.03 mm
B side ing p to A side 0.005 mm Non-rotating accuracy
C side perpendicularity to A side 0.01 mm Radial clearance
M di ion tolerance +0.05 mm (8]
Radial clearance (um) Q Note)
Non-rotating table accuracy (deg) Q Note) = >
Note) In theory, radial clearance and non-rotating table accuracy are zero by the
preloaded specification. However, in some actual cases, a moment can @
be applied and can cause deflection in an individual part. Therefore, refer
to the table displacement amount on page 212.
Optional Specifications
Rail assembly for mounting auto switch
When auto switch is mounted on air slide table without rail (MXJO-ON),
this assembly is used.
2xM1.7x2
Cross recessed head machine Applicable size Switch rail part no. Note
screw for precision instruments MXJ4-5
MXJ-AD4-10
MXJ4-10
X 6.5 MXJ-AD6-10
MXI6210 With magnet and
MXJ6-15 MXJ-AD6-15 mounting screw
M1.7x6 MXJ8-5 MXJ-AD6-10
Cross recessed head machine MXJ8-10 ) )
1.7x10 screw for precision instruments MXJs-15
Cross recessed head machine MXJ-AD8-20
screw for precision instruments MXJ8-20
Stepped positioning pin an 2
0018
MXJ-LP Use the optional stepped o .
<3 positioning pin that is provided ~ Stepped Positioning Pin
° because the positioning pin hole Part no. Note
for the table is a through hole. MXJ-LP Common for all models
. DO
0338 -Xtd



Series MXJ

Table Deflection (Reference Values)

The graphs below show the table displacement when the static moment

Table displacement due to
pitch moment load

Table displacement when loads are applied to :
the section marked with the arrow at the full !

stroke.

Table displacement due to

yaw moment load

Table displacement when loads are applied to
the section marked with the arrow at the full
stroke. :

4 ;

load is applied to the table. The graphs do not show the loadable weight.
Refer to the Model Selection for the loadable weight.

Table displacement due to

roll moment load

Table displacement when loads are applied to
the section marked with the arrow with the slide
table retracted.

] 1]

~0.10 i |z o020
3 3 MXJ4-10 L|E
E £ L|E MXJ4-5
2 0.08 g MxJ4-5 | go1s =10
s MXJ4-10 § 002 |8
80% MXJ4-5 2 e
£ . - £ L g
8 004 L] g g
Ea % oot LlE
il 1 -]
: 005
2002 2 E]
3 3 ]
[ [ boE
0 10 20 80 40 50 60 0 10 20 30 40 50 60 0 5 10 15
Load (N) Load (N) : Load (N)
0.04 ;
B 0.10 £ i B 0.20
= : e e MXJ6-5
£ 008 E E CE -
8 My R MXJ6-10 P |gos 10
5 MXJ6-10 § P18 -5
£0.06 g LMXJ6-5 | | |t
g /, MXJ6-5 g 02 LB oo
@ @ H 3 0.
8 8 K]
Zoos 2 / PE
s S 001 " 1% o0s
30.02 3 / -
3 3 ]
= ! = o Vo
0 10 20 30 40 50 60 0 10 20 30 40 50 60 ; 0 5 10 15
Load (N) Load (N) : Load (N)
o010 4 0.07 — :
£ MXJ8[20 £ P |goe
T MXJ8-1 S0 NIXJ8{20 P|E
5008 5 MXJ8-1 | 5
é MXJ8-10 goos ~ i|gors MXJ85 1
06 S os MXJ8-10 LS }.10
£ 0. £ 0. Ll (15
2 MXJ8-5 o b o
£ L] £ LlE [5
8 2003 XJ8:5 | | g 010 20
So0.04 g L k]
2 L L2002 L
20.02 2 1 -
3 3 0.01 K]
S = 4 Cr
0 10 20 3 40 5 60 70 0 10 20 30 40 5 60 70| ! 0 5 10 15 20 25 30
Load (N) Load (N) : Load (N)

212



Dimensions Note) in the MxJ4, there is no change in total length by stroke.
—

Basic style (Without switch rail)
MXJ4-0O00ON

Air siide Table Series MXJ

Operating port 2 x M3 x 0.5
(Plugged when the product is a symmetric type.)

q
NS
>
]

3
=
>
w

15
=
>
o

==
><
==

SIS
RIS
w||=<|=

Note 1) Use an optional stepped positioning pin. (See page 211.)

Note 2) Since the body and table are constructed with a magnetic
substance, it becomes magnetized when magnets, etc.
are attached to them, and this may cause the auto switch
malfunction.

12 17 5
Vacuum port M3 x 0.5 (Plugged when the
product is a symmetric type.)
(Not plugged in the case of the clean series)
Ne N
! | @
o i
27.5 8
2 x M3 x 0.5 thread depth 3.5 4 x M3 x 0.5 thread depth 3.5 Note2). Note3)
5 16
5 o8 @
E—
R gl = £
r S50
© O © |
6 35 2z
£|2
2=
10 ? g,
So| &
olE

03°% depth 1.5 Nete )

Note 3) If workpiece holding bolts are used, they can touch the

(Through) body and cause malfunctions, etc.
Refer to the Specific Product Precautions.
2 x M1.7 x 0.35 thread depth 1.5
42.5
27.5 ‘ 8 ‘ / o
. s 3 o
o | Mot e—TT&e
Vacuum port M3 x 0.5 (Plugged when the
product is not a symmetric type.) Operating port 2 x M3 x 0.5
(Not plugged in the case of the clean series) 12 17 5 (Plugged when the product is not a symmetric type.)
37
43
035% depth 1.5
17 11
17
A
o O
m [ul <
i =

4xM3x0.5

A

3°0% depth 1.5

25 3

04.8
o
O

A-A -XO



Series MXJ

Dimensions

With stroke adjuster

With adjuster on both ends

MXJ4-OOCON
QMo Mmoe ®
ol -l
£} End plate
° 3 Max. 6.5
A
5> 906 © F*E;
& © = :
o & =
Max. 7

Width across flats 4.5

2xM2.5x0.45

With adjuster on extension end

MXJ4-COCSN

©
&

Do

With adjuster on retraction end

MXJ4-OCTN

i

@

Note) Use caution because the height of the end plate's top surface will be higher than the table's top surface.

Axial piping
MXJ4-COCOPN

Axial piping plate

In the case of a symmetric type,
it is located on the opposite surface.

06 ©
60 & I

With switch rail
MXJ4

O[O o

E

2 x M2.5 x 0.45 thread depth 2.2

Do not use in the mounting of body.

Operating port 2 x M3 x 0.5

0.5 Note)

Switch rail

In the case of a symmetric type,

itis located on the opposite surface.

Note) Use caution because the height of the end plate's top surface will be higher than the table's top surface.

When all the available options are mounted (switch rail, stroke adjuster, with axial piping).

Standard type
MXJ4-0CP

214

Symmetric type
MXJ4L-COCP
©-©Q0 —E=
D o
o090 © ==




Dimensions

Basic style (Without switch rail)

Air siide Table Series MXJ

Operating port 2 x M3 x 0.5

MXJG-DD DN 12 J ! (Plugged when the product is a symmetric type.)
Vacuum port M3 x 0.5 (Plugged when the
product is a symmetric type.) © MXH
(Not plugged in the case of the clean series) %ﬁ_‘ Y/‘ ‘ _«/} "# -Z
< MX$S
wn
K o - MXQ
2 x M3 x 0.5 thread depth 3.5 5 16 4 x M3 x 0.5 thread depth 3.5 Note2). Note3)
3 T [
il N w f‘\ A~S————
e DI bk ; MXP
Lo o—OP—@| | MXY
' =
e Note 1) Use an optional stepped positioning pin. (See page 211.)
35 £|= Note 2) Since the body and table are constructed with a magnetic MTS
. 36 substance, it becomes magnetized when magnets, etc.
11 g'c‘ g are attached to them, and this may cause the auto switch
Edr= malfunction.
o= Note 3) If workpiece holding bolts are used, they can touch the
r body and cause malfunctions, etc.
/ 0375" depth 1.5 Noe ). Refer to the Specific Product Precautions.
(Through)
M 2 x M1.7 x 0.35 thread depth 2
K 8
/ .
<
3 =
S i !
Iy S e
@
Vacuum port M3 x 0.5 (Plugged when the
product is not symmetric type.) 12 J 1 Operating port 2 x M3 x 0.5
(Not plugged in the case of the clean series) (Plugged when the product is not a symmetric type.)
zz
H G
3'8% depth 2.5
237" dept GA
~—A
il I i
iL 0] -
| |
AT o
A =
- ~—A @ w
Q w
4xM4x0.7 30 depth 2.5 35 3 L
A-A
Model G GA H I J K M z 44
MXJ6-5 11 17 17 5 17 | 275 | 425 | 37 43 D-0)
MXJ6-10 11 17 17 5 17 27.5 42.5 37 43
MXJ6-15 13 22 20 7 20 31.5 47.5 42 48 -XD




Series MXJ

Dimensions

With stroke adjuster
With adjuster on both ends
MXJ6-CICCOIN

3 Max. 5.5

Width across flats 4.5

> O
&
& @
©
W

Max. 6.8

2xM2.5x0.45

With adjuster on extension end
MXJ6-CCSCIN

With adjuster on retraction end
MXJ6-OCCTN

55 0]
> ©° © |

Note) Use caution because the height of the end plate's top surface will be higher than the table's top surface.

Axial piping
MXJ6-C1C0PN

Axial piping plate

In the case of a symmetric type,

it is located on the opposite surface.
" "

506 & ]
o @0 © |

Operating port 2 x M3 x 0.5

5

(%]

¥
t

)@ e

4

e

0.5 Note)
————

With switch rail
MXJ6

2 x M3 x 0.5 thread depth 2.7

Do not use in the mounting of body.

Switch rail

In the case of a symmetric type,
it is located on the opposite surface.

Note) Use caution because the height of the end plate's top surface will be higher than the table's top surface.

5.5

When all the available options are mounted (switch rail, stroke adjuster, with axial piping)

Standard type
MXJ6-0OCP

Symmetric type
MXJ6L-CICP

216



Dimensions

Basic style (Without switch rail)

Air siide Table Series MXJ

Operating port 2 x M3 x 0.5

MXJ 8'[] ‘:l D N 12 J 1 (Plugged when the product is a symmetric type.)
Vacuum port M3 x 0.5 (Plugged when the 0
product is a symmetric type.) © WIXH
(Not plugged in the case of the clean series) W@* )‘/ \,/ 7
€ — e -
[T ] S
° MX$S
@
K 8 MXQ
2 x M3 x 0.5 thread depth 3.5 5 17 4 x M3 x 0.5 thread depth 5.5 Note2), Nete 3) MXF

CER 8
M Note 1) Use an optional stepped positioning pin.
v (See page 211.)
@ Q ol Q Note 2) Since the body and table are constructed MXP
/ ! with a magnetic substance, it becomes
magnetized when magnets, etc. are
O O m @ —‘ attached to them, and this may cause MXY
N\ _ the auto switch malfunction.
|G Note 3) If workpiece holding bolts are used, they MTS
£|2 can touch the body and cause
. 35 = malfunctions, etc.
13 03 depth 2 ; 2 Refer to the Specific Product
(Through) Note g £ Precautions.
el
M 2 x M1.7 x 0.35 thread depth 3.5
K 8
|
0 (=3 ({
o i i
o o LT @‘tL,JQ¢
Vacuum port M3 x 0.5 (Plugged when the :
product is not a symmetric type.) Operating port 2 x M3 x 0.5
(Not plugged in the case of the clean series) J | (Plugged when the product is not a symmetric type.)
12
4
zz
H G
03°0” depth 2 Ga
~—A
O X
N o
il 4 -
: T
Fund
«
S| A g g
4xM4x07 3°8 depth 2.5 4] |3 ©
A-A
Model G GA H I J K M Y4 zz
MXJ8-5 12 18 17 6 17 28.5 44.5 38 45
MXJ8-10 12 18 17 6 17 28.5 44.5 38 45 D-D
MXJ8-15 19 28 20 8 25 39.5 54.5 48 55
MXJ8-20 19 28 20 8 25 39.5 54.5 48 55 -XD




Series MXJ

Dimensions

With stroke adjuster

With adjuster on both ends

MXJ8-COCON

2xM3x0.5

Axial piping
MXJ8-CICOPN

Axial piping plate

Max. 5

*©° © |

Fac fgal

In the case of a symmetric type,
it is located on the opposite surface.

218

< &

G0 © |

Hexagon socket
width across flats 1.5

Operating port 2 x M3 x 0.5

With adjuster on extension end
MXJ8-CJCSLIN

600 © ]

oo ©

With adjuster on retraction end
MXJ8-CJCTN

With switch rail
MXJ8

2 x M4 x 0.7 thread depth 3.7

$-0° © =
o—o —

B0 ©

Do not use in the mounting of body.

Switch rail

In the case of a symmetric type,
itis located on the opposite surface.

14

When all the available options are mounted (switch rail, stroke adjuster, with axial piping)

Standard type
MXJ8-CICP

Symmetric type
MXJ8L-CICP




Construction

With magnet and rail

\%‘9

M

1)

Air siide Table Series MXJ

q
NS
>
]

=
>
(2]

L)
K

Component Parts

5 %

Axial piping

‘é@q

type

=
=
=

With stroke adjuster

Without stroke adjuster.

With adjuster on
extension end

/@
T—®

With Magnet, Rail

No. Description Material Note No. Description Material Note
Note) - " " "
1 | Body Martensitic stainless steal Heat treated 18 | Switch rail Aluminum alloy Hard anodized
Note) 19 | Magnet
2 | Table Martensitic stainless steel| _Heat treated 20 | Magnet holder Stainless steel
3 | Rod Stainless steel
4 | Piston Electroless nickel plat - -
Brass ectioless nickel plated With Stroke Adjuster
5 | Rod cover Resin N D - Material Not
6 | Head cap Resin 2(1)' End els:tr;p = Stai ?enat ] =
7 | Floating bushing A Stainless steel plate_ ainess stee .
" - 22 pin Steel Heat treated, Trivalent chromated
8 | Floating B Stainless steel " "
5 23 | Adjustment bolt Steel Heat treated Note) , Zinc chromated
9 | Roller stopper A Stainless steel " "
5 24 | Adjustment nut Steel Zinc chromated
10 | Roller stopper B Stainless steel —
Note) Only the MXJ8 series is heat treated.
11 | Rod bumper Polyurethane
12 | Plate Stainless steel Axial Plpmg Type
13 | Plug Steel + Fluorine Zinc chromated No. Description Material Note
14 | Piston seal NBR 25 | Axial piping plate Aluminum alloy Hard anodized
15 | Rod seal NBR 26 | Stud Brass Electroless nickel plated
16 | O-ring NBR 27 | Gasket Stainless steel + NBR
17 | Steel balls High carbon chrome bearing steel 28 | O-ring NBR D.|:|
Note) Use caution because the martensitic stainless steel is inferior in
corrosiveness when compaed with austenitic stainless steel. XO



Series MIXJ

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at Stroke End)

Reed auto switch | Solid state auto switch

B Cc
D-A90] D-M9r] BRI
D-MoCIW S —— ¢
D-M90CIA = ——
) O] O ‘ 5
A
Lead wire, in-line entry
* Figures in the table above are used as a reference when mounting the auto switches for stroke end detection.
In the case of actually setting the auto switches, adjust them after confirming their operation.
Reed Auto Switch: D-A9C (mm)
A B [
Model Stroke Stroke Stroke
5 10 15 20 5 10 15 20 5 10 15 20
MXJ4 9 4 — — 14 14 — — 0.5 0.5 — —
MXJ6 9 4 3 — 14 14 18 — 0.5 0.5 -0.5 —
MXJ8 9 4 10 5 14 14 25 25 -0.5 -0.5 0.5 0.5
Solid State Auto Switch, 2-Color Indication Solid State Auto Switch: D-M9J, D-M9CW, D-M9CJIA (mm)
A B C
Model Stroke Stroke Stroke
5 10 15 20 5 10 15 20 5 10 15 20
MXJ4 13 — — 18 18 — — 4.5 45 — —
MXJ6 13 8 7 — 18 18 22 — 4.5 4.5 3.5 —
MXJ8 13 8 14 9 18 18 29 29 3.5 3.5 4.5 45
Reed auto switch | Solid state auto switch D
D-A90IV D-MoCIV io\
D-M9OIWV $) O
D-M9CJAV
D-F8C] @ [Olo I -

= Figures in the table above are used as a reference when mounting the auto
switches for stroke end detection. In the case of actually setting the auto switches,
adjust them after confirming their operation.

Lead wire, perpendicular entry

Reed Auto Switch: D-A9CJV (mm)
A D
Model Stroke Stroke
5 10 15 20 5 10 15 20
MXJ4 9 4 — — 15 1.5 — —
MXJ6 9 4 3 — 1.5 15 25 —
MXJ8 9 4 10 5 2.5 2.5 1.5 15
Solid State Auto Switch, 2-Color Indication Solid State Auto Switch: D-M9CV, D-MICWV, D-MITAV (mm)
A D
Model Stroke Stroke
5 10 15 20 5 10 15 20
MXJ4 13 8 — — 5.5 5.5 — —
MXJ6 13 8 7 — 5.5 5.5 6.5 —
MXJ8 13 8 14 9 6.5 6.5 5.5 5.5
Solid State Auto Switch: D-F8(1 (mm)
A D
Model Stroke Stroke
5 10 15 20 5 10 15 20
MXJ4 1 — — 3.5 3.5 — —
MXJ6 11 6 — 3.5 3.5 4.5 —
MXJ8 1 6 12 7 4.5 45 35 3.5

220



Operating Range

(mm)
X Applicable bore size (mm)
Auto switch model
o4 26 28

D-A9CI/A9CIV 4 4
D-F80J 2 2 2
D-M9CI/mM9CIV
D-M9CIW/M9CIWV 2 25 25
D-M9CIA/M9LIAV

Auto Switch Mounting Series MXJ

* Since the operating range is provided as a guideline including hysteresis, it cannot be guaranteed (assuming
approximately +30% dispersion). It may vary substantially depending on an ambient environment.

Auto Switch Mounting

/A Caution

Auto Switch Mounting Tool

» When tightening the auto switch mounting screw (included with auto switch),
use a watchmaker’s screwdriver with a handle about 5 to 6 mm in diameter.

Tightening Torque

Tightening Torque of Auto Switch

Mounting Screw
Auto switch model
D-F80J
D-A9CI(V)
D-M9CI(V)
D-M9IW(V)
D-M9TIA(V)

(N-m)
Tightening torque

0.10t0 0.20

0.05t00.15

(Included with auto switch)

Watchmaker’s screwdriver

Caution on handling symmetric type

/A Caution

When using the following solid state auto switches (D-M9O(V),
M9OIW(V), F80), mount them in the illustrated direction.
The lower slot is for extension end detection.

¢ Lead wire, in-line entry (D-M9J, M9CJW, MOJA)

Extension end  Retraction end

Upper
T slot
Lower
slot

¢ Lead wire, perpendicular entry
(D-M9C1V, M9CIWV, M9LJAV, F8[)

Extension end

Retraction end

Upper slot

Lower slot

1. Maintain a minimum space if standard type and symmetric type are used side by side.
If the space is insufficient, it may cause auto switches to malfunction.

L Dimension

‘ Without shielding plate ‘

8 mm ‘

With shielding plate

3 mm ‘

to be smaller.

Placing in the shield plate (0.2 to 0.3 mm iron
plate) between the products allows the distance

o e e e e o e e e e e e e e e b |
: Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted. I
1 *Normally closed (NC = b contact) solid state auto switches (D-FOG/FOH types) and a solid state auto switch (D-F8) are also available. Refer to 1
1 pages 1910 and 1911 for details. 1
Lo o o o o o o o o e e e e e e e e e e e e e e e e e e e e e E Em e Em em e E e e -l

q
NS
>
]

HHHE
=T

=
><
o

=
=
Iz



Series MXJ

Made to Order:Individual Specifications

Please contact SMC for detailed dimensions, specifications, and lead times.

Symbol
n Fluororubber Seal

MXJ| Standard model no. |— X39
I Fluororubber seal

Change the materials for the piston seal, rod seal and O-rings
to fluororubber.

Specifications

Symbol
Elcrom seal

MXJ| Standard model no. |— X45
I EPDM seal

Change the materials for the piston seal, rod seal and O-rings
to EPDM.

Specifications

Type Fluororubber seal Type EPDM seal
Bore size (mm) 45,6,8 Bore size (mm) 45,6,8
Seal material Fluororubber Seal material EPDM

+ Dimensions other than the above is the same as the standard type. Grease PTFE grease

Symbol

E Anti-corrosive Specifications for Guide Unit m

MXJ [ Standard model no. | — X42

Anti-corrosive specifications
for guide unit

Martensitic stainless steel is used for the table and body. Use this
treatment if more effective anti-corrosive measures are necessary.
Anti-corrosive treatment is applied to the table and body.

Specifications

Type Anti-corrosive guide unit
Bore size (mm) 45,6,8
Surface tr Special anti-corrosive treatment )

#1 Dimensions other than the above is the same as the standard type.
* 2 The special anti-corrosive treatment turns the table and body black.

222

+ Dimensions other than the above is the same as the standard type.

/A Warning
Precautions

Be aware that smoking cigarettes, etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.




Ak

Series MXJ
Specific Product Precautions 1

Be sure to read before handling. Refer to front matter 39 for Safety Instructions

and pages 3 to 12 for Actuator and Auto Switch Precautions.

Selection |

Mounting |

ACautlon

. Operate loads within the range

of the operating limits.

Select the model considering maxi-
mum loading weight and allowable
moment. For details, refer to “Model
Selection” on pages 207 and 208.
When actuator is used outside of oper-
ating limits, eccentric loads on guide
will be in excess of this causing vibra-
tion on guide, inaccuracy, and short-
ened life.

. If intermediate stops by external

stopper is done, avoid ejection.
If lurching occurs, damage can result.
When making an inermediate stop with
an external stopper to be followed by
continued forward movement, first
supply pressure to momentarily re-
verse the table, then retract the inter-
mediate stopper, and finally apply
pressure to the opposite port to oper-
ate the table again.

. Do not use it in such a way that

excessive external force or
impact force could work on it.
This could result in damage.

Mounting

ACautlon

. Do not scratch or dent on the

mounting side of body, table
and end plate.

The damage will result in a decrease
in parallelism, vibration of guide and
an increase in moving part resistance.

. Do not scratch or dent on the

forward side of the rail or guide.
This could result in looseness and
increased operating resistance, etc.

A\ Caution

3.

8.

Do not apply excessive power
and load when work is mounted.
If the external force more than the
allowable moment were applied,
looseness of the guide unit or
increased operating resistance could
take place.

. Flatness of mounting surface

should be 0.02 mm or less.

Poor parallelism of the workpiece
mounted on the body, the base, and
other parts can cause vibration in the
guide unit and increased operating
resistance, etc.

. Select the proper connection

with the load which has external
support and/or guide mecha-
nism on the outside, and align it
properly.

. Avoid contact with the body

during operation.

Hands, etc. may get caught in the
stroke adjuster. Install a cover as a
safety measure if there are instances
to be near the slide table during opera-
tion.

. Keep away from objects which

are influenced by magnets.

Since a body has magnets built-in, do
not allow close contact with magnetic
disks, magnetic cards or magnetic
tapes. Data may be erased.

Do not attach magnets to the
body and table section.

Since the body and table are con-
structed with a magnetic substance, it
becomes magnetized when magnets,
etc.

are attached to them, and this may
cause malfunction of auto switches,
etc.

9.When mounting the body, use

appropriate length of screws and
do no exceed the maximum
tightening torque.

Tightening with a torque above the limit
could malfunction. Whereas tightening
insufficiently could result in misalign-
ment or come to a drop.

1. Body tapped

q
NS
>
]

HHHE
=T

=
><
o

¥
ﬂiﬁ

Maximum Maximum
Model Bolt tightening torque |screw-in depth
(N-m) L (mm)
MXJ4 | M3x0.5 1.14 5
MXJ6 | M4x0.7 2.7 6
MXJ8 |M4x0.7 27 6

2. Through-hole

—

Maximum
Model Bolt tightening torque| L (mm)
(Nm)
MXJ4 | M25 x 0.45 0.65 25
MXJ6 | M3x0.5 1.14 3.5
MXJ8 | M3x0.5 1.14 4

10. Use the below speed controllers

and fittings.

If other speed controllers and fittings
are used, they can interfere with the
mounting surface.

Vacuum

Side piping | Axial piping
Model ort port port

MXJ4 | AS1200-M3

MXJ8

AS1200-M3
AS1201F-M3|
AS1301F-M3

Miniature
fittings
M3 series

AS1200-M3
AS1201F-M3
AS1301F-M3

MXJ6

Mounting N}
surface 1 ot 06

[“Vacuum port ] [Side piping port] [Axial piping port]

Do)

=
=
Iz



Ak

Series MXJ
Specific Product Precautions 2

Be sure to read before handling. Refer to front matter 39 for Safety Instructions

and pages 3 to 12 for Actuator and Auto Switch Precautions.

\ Mounting |

| Operating Environment |

\ Caution on Adjuster Option

A\ Caution

1. Front mounting

Body

Z

A\ Caution To prevent the workpiece holding
bolts from touching the guide
block, use bolts that are at least
shorter than the maximum
screw-in depth. If longer bolts are
used, they can touch the guide
and cause a malfunction.

Maximum Maximum
Model Bolt [tightening torqug ~ screw-in
(N-m) depth L (mm)
MXJ4 | M3x0.5 1.14 3.5
MXJ6 | M3 x 0.5 1.14 3.5
MXJ8 | M3x0.5 1.14 35

2. Top mounting

/\ Caution To prevent the workpiece holding
bolts from touching the guide
block, use bolts that are at least
shorter than the maximum screw-
in depth. If longer bolts are used,
they can touch the guide and
cause a malfunction.

Maximum Maximum
Model Bolt [tightening torquel  screw-in
(N-m) depth L (mm)
MXJ4 |M3x0.5 1.14 4
MXJ6 | M3 x 0.5 1.14 4
MXJ8 |M3x0.5 1.14 55

1.Use a stepped positioning
pin that is provided option-
ally because the position-
ing pin hole for the table is
through.

(Refer to page 211.)

224

A\ Caution

1. Do not use in an environment,

where the product could be ex-
posed to liquids such as cutting
oil, etc.
Using in an environment where the
product could be exposed to cutting
oil, coolant, oil, etc. could result in
looseness, increased operating resis-
tance, air leakage, etc.

2.Do not use in an environment,
where the product could be ex-
posed directly to foreign materi-
als such as powder dust, blown
dust, cutting chips, spatter, etc.
This could result in looseness, in-
creased operating resistance, air leak-
age, etc.

Contact us regarding use in this kind
of environment.

3. Do not use in direct sunlight.

4. When there are heat sources in

the surrounding area, block off
them off.
When there are heat sources in the
surrounding area, radiated heat may
cause the product’s temperature to
rise and exceed the operating temper-
ature range. Block off the heat with a
cover, efc.

5. Do not subject it to excessive vi-
bration and/or impact.

Contact us regarding use in this kind
of environment, since this can cause
damage or a malfunction.

6. Be careful about the corrosion

resistance of the linear guide.
Be careful that the body and table use
martensitic stainless steel, which is in-
erior to austenitic stainless steel in
terms of corrosion resistance. Rust
may result especially in an environ-
ment that allows water drops from con-
densation to stay on the surface.

Stroke Adjuster

/\ Caution

1. Refer to the below table for lock
nut tightening torque.

Insufficient torque will cause a de-
crease in the positioning accuracy.

Model
MXJ4
MXJ6
MXJ8
2. When sroke adjuster is adjust-
ed, do not hit the table with a
wrench, etc.
This could result in looseness.

Thread size

M2.5 x 0.45

M2.5 x 0.45
M3 x0.5

Tightening torque (N-m)
0.36
0.36
0.63




Series MXJ
A Specific Product Precautions 3

Be sure to read before handling. Refer to front matter 39 for Safety Instructions
and pages 3 to 12 for Actuator and Auto Switch Precautions.

\ Caution on replacing standard type to symmetric type, and vice versa \

/\ Caution

Switch rail, axial piping plate and port location can be
changed symmetrically. In the event of replacing
them, secure with the tightening torque below.

Thread Thread size Tightening torque (N-m)
Cross-recessed head machine screw M1.7 x 0.35 0.1
Stud M3 x 0.5 0.3
Dedicated plug M3 x 0.5 0.3
Hexagon socket set screw M3 x 0.5 0.3

= No need to applying sealant to the dedicated plug, and stud when exchanging.

Switch rail part

Cross-recessed head machine screw

B H |

LU Magnet assembly

b ;iuf
@L ] Switch rail part

e

IrS
-

@ { Axial piping part
Hexagon socket %
set screw i Axial piping plate i

q
NS
>
]

=
>
7]

E

=
>
=

H:

S| =
RIS
w|=<|=



	Air Slide Table Series MXJ
	Features
	Model Selection
	How to Order/Clean Series
	Specifications/Standard Stroke/Theoretical Output/Option
	Weight/Table Accuracy/Optional Specifications
	Table Deflection
	Dimensions
	Construction
	Auto Switch Mounting
	Made to Order: Individual Specifications
	Specific Product Precautions



